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	1. Find any critical numbers of the function.
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	2. Determine the extrema for
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	3. Determine the extrema for
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	4. If possible, apply Rolle’s Theorem to find all values of c in the interval such that
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	5. If possible, apply Rolle’s Theorem to find all values of c in the interval such that
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6. If possible apply the Mean Value Theorem to find all values of c in the interval such that 
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	7. List all the critical values for the graph below.
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	8.  Label each point below as absolute or relative maximum or minimum or neither.  (Use the graph to the left)


[image: image14.wmf](

)

10,4.5

-

 ___________________________________



[image: image15.wmf](

)

5,8

-

       ___________________________________



[image: image16.wmf](

)

1,0

-

       ___________________________________



[image: image17.wmf](

)

4,5

         ___________________________________



[image: image18.wmf](

)

6,1

          ___________________________________



[image: image19.wmf](

)

9,10

       ___________________________________


Solutions:

	1. a) No crit #s
    b) 
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      Endpt:  (0,0) NOT extrema
       Crit #:  Abs. Min.  (2,-16) 
       Endpt: Abs. Max.  (4,16) 
3.    Endpt:  
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NOT extrema
       Crit #:  Abs. Min.  (-1, -1)
       Crit #:  Abs. Max.  (1, 1)
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	4.  
[image: image24.wmf]3

2

c

=


5.  
[image: image25.wmf]()

fx

is not continuous on the given interval because of an asymptote at
[image: image26.wmf]0

x

=

.  Rolle’s Theorem does not apply 
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8.
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